A)

Year Two
Math Test - Unit 7

Multiplication Tables of 3 & 4
Name: Date:

Choose the correct answer.
Write its letter in the brackets provided.

4.

5.

Which of these is the same as 2 x 4?

(@ 24 + 2 (b) 24 + 3
(c) 24 ~ 4 (d 24 ~ 6
27 + 3 is the same as %3,
(@) 3 (b) 6

(c) 9 (d) 12

32 +4=4()2

What is the missing equation?
(@) + ®) -
(c) x d =

«( )
«( )
« )

Fill in the missing numbers in the number pattern.

L [2) 0= 0=

Fill in the missing numbers.

(a) 4 x = 32
(b) 32 ~ 4=

Wendy has 18 flowers.

She puts 3 flowers on each hat

18 + =

She puts the flowers on hats.
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